3+4-7= 8-21:3=
24-8-2:4= 5%.6-7:3=

6°+4-3= 15-4- (7-5)=

28-3-6= 23+32=
8°-2-V/196= V512 — V64=




63
o = 30 - (5-2%- 15)=
(3+2)°-5-3+2°= (15:3+4)-(3*-7"2)=
(4°-6+5)/(3°+8-7-2)= (3°-2-7)+(5-3-2%)=
(7 -V78) - (4%-3 + 1)= (2)%+2% 1 =
43-5(4-2)°+3/500= 2°-5%(7%5-3%)=




(-6)-((-12)+(-3)-(-1))*(-10)= (47+(20:5+3°))-4°=

(10)%:(-5)(-10))-(-5) (-4)= (B:((-8)+7)° - ((-10)-(-2)+5)=

(=9)=(=4) ( S?:);g)s):) = E= 1 9 7 (-8 (-3)- 4

(3 (2+(-2))% (-3)-8= (2% ((-6) +3 - (-4)) *+ (-8)=

((=2)° - 9)+(3%+ (-8) - (-5))= (-2)*-(3%(27-9))=




